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Adding

@ Count up the objects. Then write the total in the box.

| l ] | | | |
| | 1 1 1 I 1
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5 6 7 8 9 10 11 12 13 14 15 16

8+51Qx

¢ ca add 1-digit and 2-digit @ (] @ D

numbers up to 20.”

Section Two — Addition and Subtraction
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2. Use the number lines to find the answers.

3. Anya has picked 5 raspberries. She picks 13 more raspberries.
How many raspberries does Anya have now?

raspberries

An Extra Challenge

Ted won 6 apples, 8 pears and 3 bananas at the fair.
How many pieces of fruit did he win in total?

o000 Z)U)Z)
B0 V00D

How did it go?
D':)cr’it ;“lgdgdo:p for you? @ - e . @ . =
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Adding

Abacus 3

Addition @

_||2\3 415‘17’8 qlio

Complete these. |

.

-

. l6+4=
4. l6+3=
7. 24+ 4=
0. 40+1=
3. 23+4=
6. 22+7 =
k. 3l+9=
22. 21+3=
25. 25+ 5=

28. 24 +5=

20.

23.

26.

249,

1213141516 17 18
R o — | Iq
f( Use the number track ) 20
("'r‘\ to he[p ) )‘j . 2'_
S-S 22
24 +6 = 3. |3+5=] 23]
1 |24
1 |25
20+ 4= 6. 23+5=r —
= | 26
- 27
23+3= . 3l+5=| _!
L 28
22 A
+ 4= + 5= =
20+ 9 2. 5 30
] _1 &
31+7= 5. 23+6__]iz
— 133
21+9= 8. 33+5= ‘ ;
35
33+4= a2 l4+6= | 36
37
33+6= 2. 33+7=| | |38
| |
o 39
20+6= 27. 3I+8=% ‘ 40
A
l+7= 30.25+4=‘ |
C
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Name

Abacus 3

Problem page

1. Gary saves I3p, and is then given
another 3p. How much has he

a pen for 6p. How much does

Addition @

. Anna buys a comic for 23p ondT

3. Jen has 5p more than Safa,
who has 13p. How much does
Jen have?

. Lenny has a score of 22 points. ¢

’

After his next round he has a
total of 26 points. How many
points did he score in the round?

5. Alan is 5 years older than Kylie.
Kylie is 13 years old. How old

. Lorna is 6 years younger than

David, who is 28 years old.
How old is Lorna? 5o

7. The time is 10:20.
What time will it be in ~

. One number is 6 more than

another. If the larger number is
17, what is the smaller number?

o (U eR

PL e S all <d G b




